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. Suppose there are n stacks. Items A, B, C, D are read into these stacks in

the order of A—»B—C —D. What is the smallest n needed, if we like to
have the output in the sequence of D->A—-B—C.
(a)one (b)two (c)three (d) four (e) none of the above

SQL (Structured Query Language)

(a) 1s a navigational language (b) specifies a sequence of raw relational
operations (c) i1s a declarative language (d) is a low level programming
language (d) none of the above

. Which of the following is NOT the characteristic of Object-Oriented

Programming (a) encapsulation (b) inheritance (c) function calls (d)
methods (e) attributes

What is the value of (10101)2 — (01010)2? (please use the 2’s
complement to solve it) (a) (10101)2 (b) (01010)2 (c) (10111)2 (d)
(01011)2 (e) none of the above

The bandwidth for wireless LAN IEEE802.11g is (a) 11Mbps (b) 54
Mbps (c) 100 Mbps (d) 80 Mbps (e) none of the above

Which of the following is a small block of very fast memory which keeps
instructions and data used most frequently or most recently to speed up
data transfer (a) programming ROM (b) virtual memory (c) cache
memory (d) extension memory () register

TCP and UDP are (a) application-layer protocols (b) data-link-layer
protocols (c) transport-layer protocols (d) network-layer protocols (e)
session-layer protocols



8. Which of the following is NOT the characteristic of Applet (a) embedded
in HTML language (b) stored on a server (c) run by a client browser (d) a

complete stand-alone program that can be run independently (e) can be
coded by JAVA

9. The sequence of visiting a binary tree is called “inorder traversal” if the
visiting sequence is (1) traversing the left subtree first, then (2) visiting
the root, and finally (3) traversing the right subtree. The preorder
traversal of the following tree is (a) ABCDEF (b)DBEACF (¢c)BACDEF
(1)) BDEACEF (e) none of the above

10. Only a portion of the program is placed in memory and the remainder is
on disk. Sections on disk will be brought into memory as needed. The
process is called (a) hashing (b) mapping (c) catching (d) fetching (e)
paging

11. What is the remainder of (2'/10) (a)0 (b)2 (c)4 (d)6 ()8

12.(CB.A) 1= (a) (203.625)10 (b) (1211.1);9 (c) (203.3); (d) (1211.3)9 (€)
none of the above

13. which of the following logic formula is TRUE (a)p and ~p (b)por q or r
(©)((p—q) and p)—q (d)(p—q) and (~p or q) (e) none of the above

14. Suppose a hashed file is constructed using the division hash algorithm of
“key-value mod size”. Assume that indices of the hash table are labeled
0,...,6. The sequence of inserting the following key-values into the hash
table 1s 24, 30, 3, 18, 15,21, 9. To read the keys out from the table
following the order of 0,...,6 of the hash table’s indices, the key values
are appearing in the sequence of (a) 24, 30, 3, 18, 15,21,9 (b)3, 9, 15,
18, 21, 24, 30 (c)21, 15, 30, 9, 24, 3, 18 (d)21, 15,9, 30, 3, 24, 18
(e) none of the above
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15. Which server accumulates and saves files that are most often requested

Iy

by internet users in a special database? Therefore, it can increase the
speed of your connection to the Internet (a) DNS (b) Web server (c)
Proxy server (d) Firewall server (e) DB server
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